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So, the time for which Vishal invested the 
money = 6 years 
Answer 14. D 
Solution: Let the distance between the two 
cities be d km. 
The distance travelled by Anil in one hour 

=  

Remaining distance = d d 

km 
Given, 
d(

k+1

k+2
)

d

k+2
+

d

k

 = 8 

= 8 k = 16 
Required number of hours taken by Anil 
= 16+2 = 18 hours 
 
Answer 15. D 
Solution: The ratio of speeds of Anil and 
Sunil = 

d

k+2
:

d

k
=  

1

18
:

1

16
= 8 : 9  

 Let the speeds of Anil and Sunil be 8x 
and 9x respectively. 

Now, 9x – 8x = 7 
⇒ x = 7 
Therefore speeds of Anil and Sunil are 56 
kmph and 63 kmph respectively. 
Required total distance = 63 × 16 = 1008 

km. 
 
Answer 16. E 
Solution: From 10:00 AM to 11:00 AM, Anil 
covered 56 km. Sunil takes a break from 
2:00 PM to 3:42 PM. We can assume that 
he starts at 12:42 PM and proceeds without 
a break 
(We transfer the break to the beginning of 
Sunil's travel, rather than let it be in the 
middle) From 10:00 AM to 12:42 PM, Anil 
cover 56 (2.7), i.e. 151.2 km. The distance 
between them, at this stage would be 1008 
−151.2, 
i.e. 856.8 km together, the two would take 
856.8 / 119, 
i.e. 19.9 hr, which is 7.54 PM
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